EAGRAROBREERT — 2 N— IBISH —F

202156860 (B) 4m+=2H

R kX)) A

18772

(

B A
=]

)

(#518) T2

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1800M FHE

[A~&£] 1 7% :7,600,000  ~ 23 :3,000,000 37 :1,900,000

/473 11,100,000 5 7& :760,000 M

& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
N B RS .50. q{_q— . . BOEN (ER)
1155 LT>hLqg 4 3 552_0 % 1&))7 1-1-1-1 | 36.9| 97.1 | 1 zzg;) Eﬁaaﬁ%
R:xXF B:O—-LIL7>Ya #HE #K
o FEBZ :51. 45— . . KiBEH (ER)

2 4| BT EARL Y Y — R 1(5;)6 A A R B tg? e

Vv RayrA B:ALT—-KRIVIL FIRRE A
[T ; 4 4 | HHEHEA 1:51.6 6-6-9-6 |37.2| 88.8 | 5 490 | HHE— (EH)

30111 FoH¥T7z—JI 57.0 (7€) +2) Emﬁﬁ‘}i

L:ANTz—"FI B:bhL/ b3 b it
— 5 3 | EXHEJ 1:52.0 2-2-2-2 [38.2| 855 | 3 510 | BB/IEXR (FEx)

al7]7 | 42FF T R A & Lo | W0 s-zenx

R:¥ XS B:N%RT HEHKS
e _ > = HBE :52. ~4-5- . . ARFE (ER)

5 3| FTURFAT [B] t> 5 L 1(532)5 4-4-5-4 |38.5| 81.3 | 7 (5_128) s

LNy v =l BURF 7T — N E45035
St : 4 3 | AEXHM 1:52.8 8-8-7-7 |38.7| 78.8 | 4 512 | AR (5EX)

6 o | AAT—IR A51.0 ) (42) | BRSHAME—R -7 (> T2
R:d—IWRYy T By Ryy T H 405
N . HEER . 00— &)

7171 8 SELEALEAY [B] # 5 5?:;_0 & 1.(55.3 3-2-2-2 [39.5| 75.3 | 2 %u)) ;qug (EH)
LA—T XA A4 B:HIdr K= (B) A1 —-FRL—->a>aEI7r
> = 3 | MERS 1:53. 6-6-7-7 |39.1| 74.9 | 8 494 | RZILUBERE (RR)

8189 AT 1 s 5?.0 (2 E) (+22) *ZIJ-IFE
R:IET7R47 B:TL Y+ ANH FRiE%%

g ;s o4 | BEN 1:54.2 9-9-4-7 |40.3| 68.9 | 9 496 | ETEBS (E®R)

91810 //7_)["79:# 57.0 (5) (+4) ZEh3E

R:ibIrtr R BRM—bH71 +HEG

3 o HA 2 — = = = = = TEBX (EXR)
EH B EREL AT I 54.0 (BGH) (=) |BERF
RixfavkR—-5— B:E IR Skt e

@ 21 L

£y 48.8-36.9

NA> AL | 12.7-11.4-13.1-12.6-12.1-11.9-12.3-12.0-12.6

@ I—F—@EBIERL

|S=7r= (x¥5,7)8(3,4) (1,9)2,10 6

Aol=5"= 5(7,8) (3,4)(1,9)2-10 6

§T=5r= (x5,7,8)10(3,4) (9,2)1 6

431—F— 5(7,8) (3,4)1(9,10,2) 6

[ RN

B 5 280 794K 4-5 870M e & 4-5 4,020M &R 1-4-5 11,390H

# B ) 160/ =9 820M B E 4-5 3,400 JEH 5-4-1 43,170

4 460/ 1-4 3,240 B H 5-4 5,300M
1 400M

ARICOVWTRDTEEERROODE. TR LIV,




